PRIVATE 
Questions - Light Reactions of Photosynthesis
1. Why is photosynthesis important?

A) It harvests light energy and uses it to fix carbon dioxide

B) It provides oxygen for respiratory organisms

C) It is essential for consumers that rely upon plants for food

D) A and C only

E) All of the above

2. In which organelle does photosynthesis take place?

A) Nucleus

B) Dictyosome

C) Mitochondrion

D) Glyoxisome

E) Chloroplast

3. In photosynthesis, light energy is converted into _______________ (and) _______________, which is used to fix _______________ (to form) _______________.
A) sugars and ATP, NADPH to form carbohydrates

B) protons and neutrons, ATP to form NADPH

C) ATP and NADPH, carbon dioxide to form carbohydrates

D) photons and ATP, oxygen to form water

E) energy and water, ATP to form carbohydrates

4. When chlorophyll captures a unit of light energy it

A) becomes excited

B) fixes carbon dioxide

C) oxidizes glucose

D) degrades

E) produces ATP

5. Non-cyclic and cyclic photophosphorylation can be distinguished from each other on the basis of

A) ATP production

B) NADPH production

C) oxygen production

D) A and B only
E) B and C only
Answers:  1-E, 2-E, 3-C, 4-A, 5-E

